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Figures to the right indicate marks allotted to each question.

1. Describe the objectives of financial management.

OR

(A) Explain the managerial finance functions.

(B) Discuss the various approaches of finance function.

2. What is risk ? Discuss the causes of financial risk and-business risk.

OR

14

14

(A) You have invested X 60,000, 40% of which.is invested in company X, which has a
expected rate of return 15%. And rest 60% is invested in company Y, with an

expected return of 12%. What .is the return on your portfolio ? What is the

expected percentage rate of return ?

(B) Explain the time value of money with illustration.

3. The ABC company is planning to purchase a machine. The data about it are as follow :

(1) Cost of machine X 1,00,000
(2) Installation charges % 21,000

(3) Scrap value X Nil

Other estimates are as follow :

ull Sales Cost of goods sold Other Costs
® (Including Depreciation of ¥ 24,000) ®
1 1,50,000 1,20,000 10,000
2 1,60,000 1,35,000 15,000
3 1,75,000 1,40,000 20,000
4 1,80,000 1,50,000 25,000
Tax rate is 50%.
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Calculating the following :

(D
@)
)

(A)
(B)

Payback period
Average rate of return
Present value method assuming 15% discount rate.
1 Year  0.870
2" Year 0.756
3 Year 0.658
4" Year  0.572
OR
Describe the principles of working capital management.
Discuss the factors affecting capital budget.

4.  What is capital structure ? Discuss the net income approach and traditional approach in

the context of capital structure.
OR
(A) Explain Preference Share with new provisions.
(B) The particulars of three firms X, Y and Z are given in the following table :
Firm | Sales ) Marginal .Operating .Financing
cost () | Fixed cost () | Fixed cost )
X 1,20,000 60,000 20,000 5,000
Y 1,20,000 40,000 30,000 7,000
V4 1,20,000 50,000 40,000 Nil
Calculate :
(1) Operating leverage
(2) Financial leverage
(3) Combined leverage
5. Choose the correct answer :
(1) The formula of reture on investment is .
total investment Net profit (after tax)
(@) Net profit (b) Total investment
© ol imesment @ Noneofes
(2) The value of an asset on a specific date in the future that is equivalent in value to
a specified sum today it is called
(a) Future value (b) Present value
(c) Compound value (d) Time value of money
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(3) The rule of thumb involves two numbers individually, which are and

(@ 59,69 (b) 79,69
() 72,69 (d) 62,72
(4) The face value of 100 equity share is ¥ 100 and market price is ¥ 250. What will

be capital gain ?

(a) 25,000 (b) T 15,000
(c) 35,000 (d) 10,000
(5) The portfolio analysis begins where the ends.
(a) business risk (b) financial risk
(¢) market risk (d) security analysis
Py
(6) InPy=E, x E_l where E, =
(a) Estimated value of share (b) Estimated value of bonds
(c) Estimated value of debenture (d) Estimated value of loans

(7) Current yield is equal to

@ Inée()r;st ) Annu;iiiléterest
Annual Interest Annual Interest
© T g o D Viela
(8) Cash flow means
(a) Net profit (b) Total income — Total expenses
(c) Cash income — cash expenses (d) Total income

(9) Certain amount of working capital is required for continuity of the production

process it is working capital.
(a) Permanent (b) Special
(c) Seasonal (d) Flexible

(10) B/Ltd. issued 10% preference share of ¥ 100 each The floatation cost is estimated
at 5%. What would be the cost of capital ?
(@) 9.52% (b) 10.52%
(c) _10% (d) 10.62%

(11) The level at which total operating expenses are equal to the amount of total
interest is called
(a) Break-even financial leverage (b) Break-even combined leverage
(c¢) Financial leverage (d) Both (a) and (b)
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(12) The changes in the borrowing capital does not affect the weighted average cost of
capital and total value of the firm. This approach is called
(a) Net Income approach (b) Traditional approach
(c) Net operating income approach ~ (d) Modigliani and Miller approach
(13) Complete the formula given by Modigliani and Miller

D)
r= PO
(@ P -P (b) Ke-g
(C) Pl + PO (d) r—D

(14) When the company issues new shares in the market, it gives first right'to purchase
the share to the old shareholders is called
(a) Bonus share (b) Equity share
(¢) Preference share (d) Right share
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